Section 6.2: The addition and Subtraction Formulas.

1) cos(a—p) =
Ex: Find the exact value of c0s15°

2) cos(a + f) =

7
Ex: Find the exact value of COS%

3) sin(a + pB) =
4) sin(a — p) =

EX: Find the exact value of sin75°

5) tan(a + f) =
6) tan(ax — f) =

EXx: Find the exact value of tan195°

Ex: Evaluate the following:

1) cos(z+6) , 2) sin(%[—e) , 3) tan(2z —0)

EX: Find the exact value for the following:

tan10° —tan 40°

1) sin 20°c0s80°—0s207sin80° , 2)
1+ tan10°tan 40°

3) cos o7 cOS z_ sin o7 sin 1z , 4) €0s72°c0s48°—sin72°sin48°
12 12 12 12



tan(15°) + tan(-50°)
tan(15°) tan(-50°) -1

5) sin(—7°) cos(-5)°—sin(5?) cos(7°) , 6)

7) cos(2x—1) cos(2x +1) —sin(1—2x) sin(1+ 2x)

EX: Find the exact values of:

a) sinfle+p) , bycos(a—p) , c)tan(a—p)
Given

sina:—l ,—£<a<0 and c:osﬂz—ﬂ ,£<,8<7r
25 2 5 2

Ex: 1) If cscﬁz—g then cos(%—@):
2) If tanez—g then tan(37”+9)=

3) If sec&’:—% then sin(%[—é’):

EXx: Evaluate
. 12 3 4 : 5
1) csclsin'(-==) —tan" (= . 2) tan[cos ™ (—=) +sin~H(—
) csc[sin™( 13) (4)] ) [cos™( 5) (13)]
3) cot[sin‘l(—ﬂ) —7—7r] . 4) sec[tan‘l(i) ~57]
5 2 2
Ex: Complete the identity
sin(x— %)
1) 2 , 2) tan(3—7r —X) tan(3—7[ + X)
74 4 4
c:os(2 —X)

3) 4sin(%— X) sin(%+ X)



